



Received 19th April 2021,
Revised 10th July 2021,
Accepted 30th July 2021

DOI: 10.14456/x0xx00000x

On the (s, t) -Pell and (s, t) -Pell-Lucas Polynomials

Somnuk Srisawat^{1*} and Wanna Sriprad¹

¹ Department of Mathematics, Faculty of Science and Technology,
Rajamangala University of Technology Thanyaburi, Pathum Thani 12110 Thailand

*E-mail: somnuk_s@rmutt.ac.th

Abstract

In this paper, we introduced the generalizations of Pell and Pell-Lucas polynomials, which are called (s, t) -Pell and (s, t) -Pell-Lucas polynomials. We also give the Binet formula and the generating function for these polynomials. Finally, we obtain some identities by using the Binet formulas.

Keywords: (s, t) -Pell Number, (s, t) -Pell-Lucas Number, (s, t) -Pell Polynomial, (s, t) -Pell-Lucas Polynomial.

1. Introduction

For over years, many recursive sequences have been studied in the literature. The famous examples of these sequences are Fibonacci, Lucas, Pell, and Pell-Lucas. They are used in many research areas such as Engineering, Architecture, Nature, and Art (for examples, see: (1-6)). The classical Fibonacci $\{F_n\}_{n=0}^{+\infty}$, Lucas $\{L_n\}_{n=0}^{+\infty}$, Pell $\{P_n\}_{n=0}^{+\infty}$, and Pell-Lucas $\{Q_n\}_{n=0}^{+\infty}$ sequences are defined by

$$F_0 = 0, F_1 = 1 \text{ and } F_n = F_{n-1} + F_{n-2},$$

$$L_0 = 2, L_1 = 1 \text{ and } L_n = L_{n-1} + L_{n-2},$$

$$P_0 = 0, P_1 = 1 \text{ and } P_n = 2P_{n-1} + P_{n-2},$$

$$Q_0 = 2, Q_1 = 2 \text{ and } Q_n = 2Q_{n-1} + Q_{n-2},$$

for $n \geq 2$, respectively. For more detailed information on the Fibonacci, Lucas, Pell, and Pell-Lucas sequences can be found in (1-2).

Recently, Fibonacci, Lucas, Pell, and Pell-Lucas sequences were generalized and studied by many authors in different ways to derive many identities. In 2012, Gulec and Taskara (7) introduced new generalizations of Pell and Pell-Lucas sequences, which are called (s, t) -Pell and (s, t) -Pell-Lucas sequences as in the following definition:

Definition 1.1 Let s, t be any real numbers with $s^2 + t > 0, s > 0$, and $t \neq 0$. Then the (s, t) -Pell sequence $\{P_n(s, t)\}_{n=0}^{+\infty}$ and the (s, t) -Pell-Lucas sequence $\{Q_n(s, t)\}_{n=0}^{+\infty}$ are defined respectively by

$$P_n(s, t) = 2sP_{n-1}(s, t) + tP_{n-2}(s, t),$$

$$Q_n(s, t) = 2sQ_{n-1}(s, t) + tQ_{n-2}(s, t)$$

for $n \geq 2$, with initial conditions $P_0(s, t) = 0, P_1(s, t) = 1$ and $Q_0(s, t) = 2, Q_1(s, t) = 2s$.

The terms of these sequences are called (s, t) -Pell and (s, t) -Pell-Lucas numbers, respectively. Also, they introduced the matrices sequences, which have elements of (s, t) -Pell and (s, t) -Pell-Lucas sequences. Further,

they obtained some identities of (s, t) -Pell and (s, t) -Pell-Lucas matrices sequences by using elementary matrix algebra. After that, the (s, t) -Pell and (s, t) -Pell-Lucas numbers were studied in different ways to obtain many identities of these numbers. (See: (8-10))

On the other hand, the theory of the second-order recursive sequence of the polynomials has been studied in the literature. In 1883 E.C. Catalan and E. Jacobsthal introduced and studied the polynomials, which are defined by Fibonacci-like recurrence relations. Such polynomials, called the Fibonacci polynomials.

The Fibonacci polynomials studied by Catalan are defined by the recurrence relation.

$$F_n(x) = xF_{n-1}(x) + F_{n-2}(x), n \geq 3$$

with initial conditions $F_1(x) = 1, F_2(x) = x$.

The Fibonacci polynomials studied by Jacobsthal are defined by the recurrence relation.

$$J_n(x) = J_{n-1}(x) + xJ_{n-2}(x), n \geq 3$$

with initial conditions $J_1(x) = J_2(x) = 1$.

In 1965, V.E. Hoggatt (11) introduced Lucas polynomials defined by the recurrence relation.

$$L_n(x) = xL_{n-1}(x) + L_{n-2}(x), n \geq 2$$

with initial conditions $L_0(x) = 2, L_1(x) = x$.

Pell polynomials sequence $\{P_n(x)\}_{n=0}^{+\infty}$ and Pell-Lucas polynomials sequence $\{Q_n(x)\}_{n=0}^{+\infty}$ were studied in 1985 by A.F. Horadam and J.M. Mahon (12), and these polynomials are defined by

$$P_n(x) = 2xP_{n-1}(x) + P_{n-2}(x), n \geq 2$$

$$Q_n(x) = 2xQ_{n-1}(x) + Q_{n-2}(x), n \geq 2$$

with initial conditions $P_0(x) = 0, P_1(x) = 1$ and $Q_0(x) = 2, Q_1(x) = 2x$.

We note that $P_n(1) = P_n$, $Q_n(1) = Q_n$, $P_n(\frac{1}{2}) = F_n$, and $Q_n(\frac{1}{2}) = L_n$ where P_n , Q_n , F_n , and L_n are the n^{th} Pell, Pell-Lucas, Fibonacci, and Lucas numbers, respectively. Moreover, $P_n(\frac{1}{2}x) = F_n(x)$ and $Q_n(\frac{1}{2}x) = L_n(x)$ where $F_n(x)$ and $L_n(x)$ are the n^{th} Fibonacci and Lucas polynomials, respectively (see (12)). For more detailed information on Fibonacci, Lucas, Pell, and Pell-Lucas polynomials can be found in (1-2). In the last decade, Fibonacci, Lucas, Pell, and Pell-Lucas polynomials have been generalized and studied by many authors (see (13-14)).

In this paper, we introduced the generalizations of Pell and Pell-Lucas polynomials, which are called (s, t) -Pell and (s, t) -Pell-Lucas polynomials. We also give the Binet formula and the generating function for these polynomials and then some identities are obtained by using the Binet formulas.

2. Main results

We begin this section with the following definition.

Definition 2.1 Let s, t be any real numbers with $s^2 + t > 0, s > 0$, and $t \neq 0$. Then the (s, t) -Pell polynomial sequence $\{P_n(s, t)(x)\}_{n=0}^{+\infty}$ and the (s, t) -Pell-Lucas polynomial sequence $\{Q_n(s, t)(x)\}_{n=0}^{+\infty}$ are defined respectively by

$$\begin{aligned} P_n(s, t)(x) &= 2sxP_{n-1}(s, t)(x) + tP_{n-2}(s, t)(x), \\ Q_n(s, t)(x) &= 2sxQ_{n-1}(s, t)(x) + tQ_{n-2}(s, t)(x) \end{aligned}$$

for $n \geq 2$, with initial conditions $P_0(s, t)(x) = 0$, $P_1(s, t)(x) = 1$ and $Q_0(s, t)(x) = 2$, $Q_1(s, t)(x) = 2sx$.

The first few terms of the (s, t) -Pell polynomial sequence are $0, 1, 2sx, 4s^2x^2 + t, 8s^3x^3 + 4stx$. Also, the first few terms of the (s, t) -Pell-Lucas polynomial sequence are $2, 2sx, 4s^2x^2 + 2t, 8s^3x^3 + 6stx, 16s^4x^4 + 16s^2tx^2 + 2t^2$. The terms of the (s, t) -Pell and the (s, t) -Pell-Lucas polynomial sequences are called (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively.

In particular, if $s = \frac{1}{2}$, $t = 1$, then the classical Fibonacci and Lucas polynomial sequences are obtained, if $s = t = 1$, then the classical Pell and Pell-Lucas polynomial sequences are obtained, and if $s = 1$, then the k -Pell and k -Pell-Lucas polynomial sequences are obtained.

Throughout this paper, for convenience, we will use the symbol $\mathcal{P}_n(x)$ and $\mathcal{Q}_n(x)$ instead of $P_n(s, t)(x)$ and $Q_n(s, t)(x)$, respectively.

First, we give the explicit formula for the n^{th} (s, t) -Pell and (s, t) -Pell-Lucas polynomials.

Theorem 2.2 (Binet's formulas) *The n^{th} (s, t) -Pell and n^{th} (s, t) -Pell-Lucas polynomials are given by*

$$\mathcal{P}_n(x) = \frac{\alpha^n - \beta^n}{\alpha - \beta}, n \geq 0 \quad (2.1)$$

$$\mathcal{Q}_n(x) = \alpha^n + \beta^n, n \geq 0 \quad (2.2)$$

respectively, where α, β are the roots of the characteristic equation $r^2 - 2srx - t = 0$ and $\alpha > \beta$. *Proof.* The characteristic equation for the recurrence relations in Definition 2.1 is

$$r^2 - 2srx - t = 0 \quad (2.3)$$

Let α, β be the roots of equation (2.1) and $\alpha > \beta$, we have $\alpha = sx + \sqrt{s^2x^2 + t}$ and $\beta = sx - \sqrt{s^2x^2 + t}$. Note that

$$\alpha + \beta = 2sx, \alpha - \beta = 2\sqrt{s^2x^2 + t} \text{ and } \alpha\beta = -t.$$

Since equation (2.3) has two distinct roots, then

$$\mathcal{P}_n(x) = a_1\alpha^n + a_2\beta^n$$

and

$$\mathcal{Q}_n(x) = b_1\alpha^n + b_2\beta^n$$

are the solutions for the recurrence relations in Definition 2.1, respectively, for some real numbers a_1, a_2, b_1, b_2 . Giving to n the values $n = 0$ and $n = 1$, then solving system of linear equations, we obtain a unique solution $a_1 = \frac{1}{\alpha - \beta}$, $a_2 = -\frac{1}{\alpha - \beta}$ and $b_1 = b_2 = 1$. So,

$$\mathcal{P}_n(x) = \frac{\alpha^n - \beta^n}{\alpha - \beta}$$

and

$$\mathcal{Q}_n(x) = \alpha^n + \beta^n \quad \square$$

Theorem 2.3 (Generating Functions) *The generating functions for the (s, t) -Pell and (s, t) -Pell-Lucas polynomials are given by*

$$\begin{aligned} f(y) &= \frac{y}{1 - 2sxy - ty^2}, \\ g(y) &= \frac{2 - 2sxy}{1 - 2sxy - ty^2} \end{aligned}$$

respectively.

Proof. The generating function for the (s, t) -Pell polynomial sequence is defined by

$$\begin{aligned} f(y) &= \sum_{n=0}^{+\infty} \mathcal{P}_n(x)y^n. \\ \text{Since } \sum_{n=0}^{+\infty} \mathcal{P}_n(x)y^n &= y + 2sx \sum_{n=2}^{+\infty} \mathcal{P}_{n-1}(x)y^n \\ &\quad + t \sum_{n=2}^{+\infty} \mathcal{P}_{n-2}(x)y^n, \\ &= y + 2sxy \sum_{n=0}^{+\infty} \mathcal{P}_n(x)y^n \\ &\quad + ty^2 \sum_{n=0}^{+\infty} \mathcal{P}_n(x)y^n, \end{aligned}$$

we get that

$$f(y) = \sum_{n=0}^{+\infty} \mathcal{P}_n(x)y^n = \frac{y}{1 - 2sxy - ty^2}.$$

Similarly, we obtain the generating function for the (s, t) -Pell-Lucas polynomial sequence as follows

$$g(y) = \frac{2 - 2sxy}{1 - 2sxy - ty^2} \quad \square$$

Next, using the Binet's formulas (2.1) and (2.2), we obtain Catalan's identities, Cassini's identities, and d'Ocagne's identities for the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, which are stated in the following theorems.

Theorem 2.4 (Catalan's Identities) Let $\{\mathcal{P}_n(x)\}_{n=0}^\infty$ and $\{\mathcal{Q}_n(x)\}_{n=0}^\infty$ be the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively. Then

$$(i) \mathcal{P}_{n+r}(x)\mathcal{P}_{n-r}(x) - \mathcal{P}_n^2(x) = -(-t)^{n-r}\mathcal{P}_r^2(x),$$

$$(ii) \mathcal{Q}_{n+r}(x)\mathcal{Q}_{n-r}(x) - \mathcal{Q}_n^2(x) = (-t)^{n-r}(\mathcal{Q}_r^2(x) - 4(-t)^r),$$

for all $n \geq 0, r \geq 0$, and $n \geq r$.

Proof. Using Binet's formula (2.1), we have

$$\begin{aligned} \mathcal{P}_{n+r}(x)\mathcal{P}_{n-r}(x) - \mathcal{P}_n^2(x) &= \frac{-\alpha^{n+r}\beta^{n-r} - \alpha^{n-r}\beta^{n+r} + 2\alpha^n\beta^n}{(\alpha-\beta)^2} \\ &= \frac{-(\alpha\beta)^{n-r}(\alpha^r - \beta^r)^2}{(\alpha-\beta)^2} \\ &= -(-t)^{n-r}\mathcal{P}_r^2(x), \end{aligned}$$

and using Binet's formula (2.2), we obtain

$$\begin{aligned} \mathcal{Q}_{n+r}(x)\mathcal{Q}_{n-r}(x) - \mathcal{Q}_n^2(x) &= \alpha^{n-r}\beta^{n-r}(\alpha^{2r} + \beta^{2r} - 2\alpha^r\beta^r) \\ &= (\alpha\beta)^{n-r}((\alpha^r + \beta^r)^2 - 4(\alpha\beta)^r) \\ &= (-t)^{n-r}(\mathcal{Q}_r^2(x) - 4(-t)^r). \quad \square \end{aligned}$$

Theorem 2.5 (Cassini's Identities) Let $\{\mathcal{P}_n(x)\}_{n=0}^\infty$ and $\{\mathcal{Q}_n(x)\}_{n=0}^\infty$ be the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively. Then

$$(i) \mathcal{P}_{n+1}(x)\mathcal{P}_{n-1}(x) - \mathcal{P}_n^2(x) = -(-t)^{n-1}$$

$$(ii) \mathcal{Q}_{n+1}(x)\mathcal{Q}_{n-1}(x) - \mathcal{Q}_n^2(x) = 4(-t)^{n-1}(s^2x^2 + t),$$

for all $n \geq 1$.

Proof. Take $r = 1$ in Theorem 2.4 and using the initial conditions $\mathcal{P}_1(x) = 1, \mathcal{Q}_1(x) = 2sx$. Then we get the results. \square

Theorem 2.6 (d'Ocagne's Identities) Let $\{\mathcal{P}_n(x)\}_{n=0}^\infty$ and $\{\mathcal{Q}_n(x)\}_{n=0}^\infty$ be the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively. Then

$$(i) \mathcal{P}_m(x)\mathcal{P}_{n+1}(x) - \mathcal{P}_{m+1}(x)\mathcal{P}_n(x) = (-t)^n\mathcal{P}_{m-n}(x),$$

$$(ii) \mathcal{Q}_m(x)\mathcal{Q}_{n+1}(x) - \mathcal{Q}_{m+1}(x)\mathcal{Q}_n(x) = 2(-t)^n\sqrt{s^2x^2 + t}(\mathcal{Q}_{m-n}(x) - 2(sx + \sqrt{s^2x^2 + t})^{m-n}),$$

for all $m \geq 1, n \geq 1$, and $m \geq n$.

Proof. Using Binet's formula (2.1), we have

$$\begin{aligned} \mathcal{P}_m(x)\mathcal{P}_{n+1}(x) - \mathcal{P}_{m+1}(x)\mathcal{P}_n(x) &= \frac{(\alpha\beta)^n(\alpha-\beta)(\alpha^{m-n} - \beta^{m-n})}{(\alpha-\beta)^2} \\ &= (\alpha\beta)^n \cdot \frac{\alpha^{m-n} - \beta^{m-n}}{\alpha-\beta} \\ &= (-t)^n\mathcal{P}_{m-n}(x), \end{aligned}$$

and using Binet's formula (2.2), we obtain

$$\begin{aligned} \mathcal{Q}_m(x)\mathcal{Q}_{n+1}(x) - \mathcal{Q}_{m+1}(x)\mathcal{Q}_n(x) &= \alpha^n\beta^n(\alpha^{m-n}\beta + \alpha\beta^{m-n} - \alpha^{m-n+1} - \beta^{m-n+1}) \\ &= (\alpha\beta)^n(\alpha - \beta)(\alpha^{m-n} + \beta^{m-n} - 2\alpha^{m-n}) \\ &= 2(-t)^n\sqrt{s^2x^2 + t}(\mathcal{Q}_{m-n}(x) - 2(sx + \sqrt{s^2x^2 + t})^{m-n}). \quad \square \end{aligned}$$

Again, in the following theorems, we obtain important elementary relationships involving $\mathcal{P}_n(x)$ and $\mathcal{Q}_n(x)$ by using Binet's formulas (2.1) and (2.2).

Theorem 2.7 For all $n \geq 1$, Let $\{\mathcal{P}_n(x)\}_{n=0}^\infty$ and $\{\mathcal{Q}_n(x)\}_{n=0}^\infty$ be the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively. Then

$$(i) \mathcal{P}_{n+1}(x) + t\mathcal{P}_{n-1}(x) = \mathcal{Q}_n(x),$$

$$(ii) \mathcal{Q}_{n+1}(x) + t\mathcal{Q}_{n-1}(x) = 4(s^2x^2 + t)\mathcal{P}_n(x),$$

$$(iii) 2sx\mathcal{P}_n(x) + 2t\mathcal{P}_{n-1}(x) = \mathcal{Q}_n(x).$$

Proof. Using Binet's formulas (2.1) and (2.2), we have

$$\begin{aligned} \mathcal{P}_{n+1}(x) + t\mathcal{P}_{n-1}(x) &= \frac{\alpha^{n+1} - \beta^{n+1} - \alpha\beta(\alpha^{n-1} - \beta^{n-1})}{\alpha-\beta} \\ &= \frac{(\alpha-\beta)(\alpha^n + \beta^n)}{\alpha-\beta} \\ &= \mathcal{Q}_n(x). \end{aligned}$$

Similarly, we obtain the result (ii). By using (i) and $\mathcal{P}_{n+1}(x) = 2sx\mathcal{P}_n(x) + t\mathcal{P}_{n-1}(x)$, we obtain the result (iii). \square

Finally, we obtain summations involving $\mathcal{P}_n(x)$ and $\mathcal{Q}_n(x)$, which are stated in the following theorem.

Theorem 2.8 Let $\{\mathcal{P}_n(x)\}_{n=0}^\infty$ and $\{\mathcal{Q}_n(x)\}_{n=0}^\infty$ be the (s, t) -Pell and (s, t) -Pell-Lucas polynomials, respectively. Then for all $m \geq 1, n \geq 1, r \geq 0$ and $\mathcal{Q}_m(x) \neq (-t)^m + 1$, the following statements hold.

$$(i) \sum_{k=1}^n \mathcal{P}_{mk+r}(x) = \frac{\mathcal{P}_{mn+m+r}(x) - \mathcal{P}_{m+r}(x) - (-t)^m(\mathcal{P}_{mn+r}(x) - \mathcal{P}_r(x))}{\mathcal{Q}_m(x) - (-t)^{m-1}},$$

$$(ii) \sum_{k=1}^n \mathcal{Q}_{mk+r}(x) = \frac{\mathcal{Q}_{mn+m+r}(x) - \mathcal{Q}_{m+r}(x) - (-t)^m(\mathcal{Q}_{mn+r}(x) - \mathcal{Q}_r(x))}{\mathcal{Q}_m(x) - (-t)^{m-1}}.$$

Proof. Using Binet's formulas (2.1) and (2.2), we have

$$\begin{aligned} \sum_{k=1}^n \mathcal{P}_{mk+r}(x) &= \sum_{k=1}^n \frac{1}{\alpha-\beta}(\alpha^{mk+r} - \beta^{mk+r}) \\ &= \frac{1}{\alpha-\beta} \left(\frac{\alpha^{m+r}(1-\alpha^{mn})}{1-\alpha^m} - \frac{\beta^{m+r}(1-\beta^{mn})}{1-\beta^m} \right) \\ &= \frac{\alpha^{m+r}(1-\alpha^{mn})(1-\beta^m) - \beta^{m+r}(1-\beta^{mn})(1-\alpha^m)}{(\alpha-\beta)(1-\alpha^m)(1-\beta^m)} \\ &= \frac{\mathcal{P}_{mn+m+r}(x) - \mathcal{P}_{m+r}(x) - (-t)^m(\mathcal{P}_{mn+r}(x) - \mathcal{P}_r(x))}{\mathcal{Q}_m(x) - (-t)^{m-1}}. \end{aligned}$$

Similarly, by the same argument as above, we obtain the result (ii). \square

3. Conclusions

In this paper, the generalizations of Pell and Pell-Lucas polynomials, are introduced and the Binet formulas and the generating functions for these polynomials are obtained. Furthermore, some identities are given by using the Binet formulas.

Acknowledgements

The authors would like to thank the faculty of science and technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand for the financial support. Moreover, the authors would like to thank the referees for their valuable suggestions and comments which helped to improve the quality and readability of the paper.

Declaration of conflicting interests

The authors declared that they have no conflicts of interest in the research, authorship, and this article's publication.

References

1. Koshy T. Pell and Pell-Lucas Numbers with Applications. Berlin: Springer; 2014.
2. Koshy T. Fibonacci and Lucas Numbers with Applications. New York: John Wiley and Sons Inc; 2001.
3. Naschie M.S. El. The Fibonacci Code Behind Super Strings and P-Branes: An Answer to M. Kaku's Fundamental Question. *Chaos, Solitons & Fractals*. 2007; 31: 537–547.
4. Naschie M.S. El. Notes on Superstrings and the Infinite Sums of Fibonacci and Lucas Numbers. *Chaos, Solitons & Fractals*. 2001; 12: 1937–1940.
5. Stakhov A.P. Fibonacci Matrices: A Generalization of the "Cassini Formula" and a New Coding Theory. *Chaos, Solitons Fractals*. 2006; 30: 56–66.
6. Stakhov A.P. The Generalized Principle of the Golden Section and Its Applications in Mathematics, Science and Engineering. *Chaos, Solitons & Fractals*. 2005; 26: 263–289.
7. Gulec H.H, Taskara N. On the (s,t)-Pell and (s,t)-Pell Lucas sequences and their matrix representations. *Applied Mathematics Letters*. 2012; 25: 1554–1559.
8. Srisawat S, Sriprad W. On the (s,t)-Pell and (s,t)-Pell-Lucas numbers by matrix methods. *Annales Mathematicae et Informaticae*. 2016; 46: 195-204.
9. Srisawat S, Sriprad W. Some identities for (s,t)-Pell and (s,t)-Pell-Lucas numbers and its application to Diophantine equations. *SNRU Journal of Science and Technology*. 2017; 9(1): 424-431.
10. Srisawat S, Sriprad W. On Some Identities and Generating Functions for (s,t)-Pell and (s,t)-Pell-Lucas Numbers. *Science and Technology RMUTT Journal*. 2017; 7(2): 194–199.
11. Hogatt V. E. Fibonacci and Lucas numbers. Borton: Houshton Mifflin Company, 1965.
12. Horadam A. F., Mahon B. J. M. Pell and Pell-Lucas polynomials. *Fibonacci Quart*. 1985; 23:7-20.
13. CATARINO P. Diagonal function of the k-Pell and k-Pell-Lucus polynomials and some identities. In: *Acta Math. Univ. Comenianae*. 2018; 87: 147–159.
14. Sergio F. Angle Piazza. On k-Fibonacci sequences and polynomials and their derivatives. In: *Chaos and Solitons and Fractals*. 2009; 39: 1005–1019.